"Quiz VIl General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/25M 9:30 am Form A quiz #

Name k @4’7 Name

(print name) & (sign name) Please show all work for full (& par.tial) credit
Tl bw

1. Is the following an allowed Lewis Dot Structure ? Pay attention to the atom with the *.

The Lewis Dot structure is an @xpanded octet (b) less than an octet structure (c) incorrect
structure ] (circle one} (5 pts)
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2. Place the following bonds in order using the choices below (each letter can only be used one time) (3
pts)  (a) longest bond length (b) medium bond length (¢) shortest bond length

3. Complete the following VSEPRT chart for the Lewis Dot structure shown. ,
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Answer the following questions about the atom with the * (2 pts each, 12 pts)
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oy ﬂ’
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a. How many electron pairs ___~ b. How many lone pairs

c. What is the geometry of the electron pairs ? E’“{“’iﬂ's 5¢ nad é:? f (i n O

d. What is the geometry of the molecule ? }!;3 L AT
. i o

e. What is the hybridization 5;"" f. What is, are the bond angle __ / 2 (O

Extra Credit (1 pt each, 3 pts) For the bond, show the polarity symbol as an arrow or with the symbol &
:g‘-“( (§ -

S-----0
7
Draw in the vector arrows for the molecule above in the line- wedge- dash drawing.

iy
The above molecule as a whole is [ {polar)jor (nonpolar)] (circle one)



Quiz VIl General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/25 M 9:30 am Form B quiz #

Name /% Name

(print name) 4 (sign name) Please show all work for full (& partial) credit

1. Is the following an allowed Lewis Dot Structure ? Pay attention to the atom with the *,

The Lewis Dot structure is an [(a) expanded octet (b) less than an octet structure@\hcorrect
structure ] (circle one) (5 pts)
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2. Place the following bonds in o;‘der using the choices below (each letter can only be used one time) (3
pts) (a) longest bond length (b) medium bond length (c) shortest bond length

cc @) c=c_(D c=C @

3. Complete the following VSEPRT chart for the Lewis Dot structure shown.

&

g
He—e—As ——_H
{*

H

Answer the following questions about the atom with the * (2 pts each, 12 pts)

a. How many electron pairs (k b. How many lone pairs (
c. What is the geometry of the electron pairs ? é(’/{’VM V?’ﬂy

d. What is the geometry of the molecule ? TLV tg}W 5}7 % e 2o sl Mé&/
e. What is the hybridization _$ ?ﬂ 5 f. What is, are the bond angle / 09,5

Extra Credit (1 pt each, 3 pts) For the bond, show the polarity symbol as an arrow or with the symbol &

2 A Y
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Draw in the vector arrows for the molecule above in the line- wedge- dash drawing.

The above molecule as a wholeis | (polar)gr (nonpolar)] (circle one)




Quiz VI General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/25M 10:30 am Form A quiz #

Name »’Q fays Name
(print name) 7 (sign name) Please show all work for full (& partial) credit

5€{fgu

1. Is the following an allowed Lewis Dot Structure ? Pay attention to the atom with the *.

The Lewis Dot structure is an [(a) expanded oct@ess than an octet structure (c) incorrect
structure ] (circle one) (5 pts)
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2. Place the following bonds in order using the choices below (each letter can only be used one time) (3
pts)  (a) Highest bond strength (b) medium bond strength (c) lowest bond strength

cc (@) c=c ) c=c

3. Complete the following VSEPRT chart for the Lewis Dot structure shown.
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a. How many electron pairs b, b. How many lone pairs 2

3

. ' ;o p _1’.) . ‘ . -
c. What is the geometry of the electron pairs ? 1. | &3 fir-& 2y P A ;/Q@{
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d. What is the geometry of the molecule ? 5r 5 /Z\ L O L &\w f{ﬁ/ @ﬁ?
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e. What is the hybridization ">§f) (% f. What is, are the bond angle{ /25’ J él‘“?ﬂ" ©
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Extra Credit (1 pt each, 3 pts) For the bond, show the polarity symbol as an arrow or with the symbol 6

Draw in the vector arrows for the molecule above in the line- wedge- dash drawing.

The above molecule as a whole is [(@olar}/br (nonpolar)} (circle one)
AN



Quiz VII General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/25 M 10:30 am Form B quiz #

Name ﬁi 54;}»‘ Name
(print name) (sign name) Please show all work for full (& partial) credit

1. Is the following an allowed Lewis Dot Structure ?  Pay attention to the atom with the *.

The Lewis Dot structure is an [(a) expanded octef&)) fiess than an octet strucﬁxr@}inccrrect
structure ] (circle one) (5 pts) 7 -
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2. Place the following bonds in order using the choices below (each letter can only be used one time} (3
pts) (a) Highest bond strength (b) medium bond strength (c) lowest bond strength
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3. Complete the following VSEPRT chart for the Lewis Dot structure shown.
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Answer the following questions about the atom with the * (2 pts each, 12 pts)

e,

a. How many eleciron pairs 5: - b. How many lone pairs {J

¢. What is the geometry of the electron pairs ? (% AZ,;J»@ .{,é V'@é’/
d. What is the geometry of the molecule ? i Wﬂé«fg Vf@f

2 gd e, ,
e. Whatis the hybridization S 4 £ Whatis, are the bond angle S 0°

Extra Credit (1 pt each, 3 pts) For the bond, show the polarity symbol as an arrow or with the symbol &

Draw in the vector arrows for the molecule above in the line- wedge- dash drawing.

The above molecule as a whole is [ {polar) or (@w(cimle one) {;ﬁ@ I
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' Quiz VI General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/25M 9:30am Form A quiz#_) ~{ &

Name Name
(prini name) (sign pame) Please show all work for full {& partial) credit
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1. Ts the following an allowed Lewis Dot Structure ? Pay attention to the atom with the *.

The Lewis Dot structure is an [(a) expanded octet (b) less than an octet structure {c) incorrect
structure  (circle one) (5 pts)
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2. Place the following bonds in order using the choices below (each letter can only be used one time) (3
pis) () longest bond length (b) medium bond length () shortest bond length

C=C
C-C
CsC

3. Complete the following VSEPRT chart for the Lewi% Dot structure shown.

NS ey
.'0{\0': 0 \0

\.‘ ‘.‘

Answer the following questions about the atom with the * (2 pts each, 12 pts)
a. How many ¢lectron pairs b. How many lone pairs

c. What is the geometry of the electron pairs ?

d. What is the geometry of the molecule ?

e. What is the hybridization f. What is, are the bond angle

Extra Credit (1 pt each, 3 pis) For the bond, show the polarity symbol as an arrow or with the symbol &

Draw in the vector arrows for the molecule above in the line- wedge- dash drawing.

The above molecule as a whole is [ (polar) or (nonpolar}] (circle one)



Quiz VII General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/25 M 9:30 am Form B quiz # 5 n l(

Name Name
(print name) (sign name) Please show all work for full (& partial) credit

1. Is the following an allowed Lewis Dot Structure ? Pay attention to the atom with the *.

The Lewis Dot structure is an {(a) expanded octet (b} less than an octet structure (c) incorrect
structure | (circle one) (5 pts)
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2. Place the following bonds in order using the choices below (each letter can only be used one time) (3
pts) (a) longest bond length (b) medium bond length (¢) shortest bond length

C-C C=C c=C
3. Complete the following VSEPRT chart for the Lewis Dot structure shown.
pe
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Answer the following questions about the atom with the * (2 pts each, 12 pts)
a. How many electron pairs b. How many lone pairs

c. What is the geometry of the elecfron pairs ?

d. What is the geometry of the molecule ?

e. What is the hybridization £ What is, are the bond angle

Extra Credit (1 pt each, 3 pts) For the bond, show the polarity symbol as an arrow or with the symbol &

H-------- As

Draw in the vector arrows for the molecule above in the line- wedge- dash drawing,

The above molecule as a whele is [ (polar) or (nonpelar}] (circle ong)



Quiz VII General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/25M 10:30 am Form A quiz # é ‘6

Name Name
{print name) _ (sign name) Please show all work for full (& partial) credit

5€lpus

1. Is the following an aliowed Lewis Dot Structure ? Pay attention {o the atom with the *.

The Lewis Dot structure is an [(a) expanded octet (b) less than an octet structure (c) incorrect
structure } (circle one) (5 pts)
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2. Place the following bonds in order using the choices below (each letter can only be used one time) (3
pts)  {a) Highest bond strength (b) medium bond strength {c) lowest bond strength

cC__ C=C__ C____
3. Complete the following VSEPRT chart for the Lewis Dot structure shown.
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Answer the following questions about the atom with the * (2 pts each, 12 pts)
a. Howmany electronpairs __ b. How many lone pairs o
¢. What is the geometry of the electron pairs ?
d. What is the geometry of the molecule ?
¢. What is the hybridization f. What is, are the bond angle

Extra Credit (1 pt each, 3 pts) For the bond, show the polarity symbol as an arrow or with the symbol &

T

Diraw in the vector arrows for the molecule above i the line- wedge- dash drawing.

The above molecule as a whole is [ (polar) or (nonpolar}] (circle one)



Quiz VII General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/25M 1030 am Form B quiz #

Name . Name
(print name) {sign name) Please show all work for full (& partial) credit

1. Is the following an allowed Lewis Dot Structure ? Pay attention to the atom with the B

The Lewis Dot structure is an [(a) expanded octet (b) less than an octet structure (c) incorrect
structure ] (circle one) (5 pts)

o
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2. Place the following bonds in order using the choices below {each letter can only be used one time) (3
pts) (&) Highest bond strength (b} medium bond strength (¢) lowest bond strength
c=C oXe C=C

3. Complete the following VSEPRT chart for the Lewis Dot structure shown.
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Answer the following questions about the atom with the * (2 pts each, 12 pts)

a. How many electron pairs b. How many lone pairs

¢. What is the geometry of the electron pairs ?

d. What is the geometry of the molecule ?

€. What is the hybridization f. What is, are the bond angle

Extra Credit (1 pt each, 3 pts) For the bond, show the polarity symbol as an arrow or with the symbol &
Cl---——-§

Draw in the vector arrows for the molecule above in the line- wedge- dash drawing.

The above molecule as a whole is [ (polar} or (nonpolar)] (circle cne)



